

الحساب التفاضلي $\int \rightarrow F$

اذا $a \leq b$ **تذكر**
 $\int_a^b f(x) dx = [F(x)]_a^b = F(b) - F(a)$

$k \int f(x) dx = k \int f(x) dx$
 $\int \frac{L}{3x+1} dx$
 $\int \frac{L}{3x+1} dx = \int \frac{L}{3x+1} \cdot \frac{1}{3} \cdot 3 dx$
 $= \frac{L}{3} \int \frac{3}{3x+1} dx$
 $= \frac{L}{3} \int \frac{(3x+1)'}{3x+1} dx$
 $= \frac{L}{3} [P \ln|3x+1|]_a^b$
 $= \frac{L}{3} (P \ln|3x+1|) - (0)$
 $= \frac{L}{3} P \ln|3x+1|$
قاعدة $\int \frac{P}{P'} dx = \ln|P|$
قاعدة $\int P x^n dx = \frac{P x^{n+1}}{n+1}$
 $x^n = \sqrt[n]{x^n}$
 $(e^x + 1)' = e^x$

$\int_0^1 \frac{1}{e^x+1} dx$
 $= \int_0^1 \frac{1+e^x - e^x}{e^x+1} dx$
 $= \int_0^1 \left(\frac{1+e^x}{e^x+1} - \frac{e^x}{e^x+1} \right) dx$
 $= \int_0^1 \left(1 - \frac{e^x}{e^x+1} \right) dx$
 $= \int_0^1 1 dx - \int_0^1 \frac{e^x}{e^x+1} dx$
 $= [x - P \ln|e^x+1|]_0^1$
 $= (1 - P \ln(e+1)) - (0 - P \ln(e+1))$
 $= 1 - P \ln(e+1) + P \ln(e+1)$
 $= 1 + P \ln\left(\frac{e}{e+1}\right)$
 $= P \ln\left(\frac{e}{e+1}\right) + P \ln(e+1)$
 $= P \ln\left(\frac{e}{e+1} \cdot (e+1)\right)$
 $= P \ln(e)$
 $= P$
قاعدة $\int \frac{P}{P'} dx = \ln|P|$

$\int_0^{\sqrt{2}} x e^{\frac{x}{2}} dx$
 $= \int_0^{\sqrt{2}} \frac{1}{2} x e^{\frac{x}{2}} dx$
 $= \frac{1}{2} \int_0^{\sqrt{2}} x e^{\frac{x}{2}} dx$
 $= \frac{1}{2} \left[\frac{2}{1} x e^{\frac{x}{2}} - \int e^{\frac{x}{2}} dx \right]_0^{\sqrt{2}}$
 $= \frac{1}{2} \left[2x e^{\frac{x}{2}} - 2 e^{\frac{x}{2}} \right]_0^{\sqrt{2}}$
 $= \frac{1}{2} \left(2\sqrt{2} e^{\frac{\sqrt{2}}{2}} - 2 e^{\frac{\sqrt{2}}{2}} \right) - \left(2e^0 - 2e^0 \right)$
 $= \frac{1}{2} \left(2\sqrt{2} e^{\frac{\sqrt{2}}{2}} - 2 e^{\frac{\sqrt{2}}{2}} \right)$
 $= \sqrt{2} e^{\frac{\sqrt{2}}{2}} - e^{\frac{\sqrt{2}}{2}}$
 $= e^{\frac{\sqrt{2}}{2}} (\sqrt{2} - 1)$
قاعدة $\int P x^n dx = \frac{P x^{n+1}}{n+1}$
قاعدة $\int P e^{ax} dx = \frac{P e^{ax}}{a}$
قاعدة $\int P e^{ax} dx = \frac{P e^{ax}}{a}$
قاعدة $\int P e^{ax} dx = \frac{P e^{ax}}{a}$
قاعدة $x^{\frac{1}{2}} = \sqrt{x}$

$$e^x \cdot e^y = e^{x+y}$$

$$e^{-x} \rightarrow -e^x$$

$$e^{ax} \rightarrow \frac{1}{a} e^{ax}$$

$$\begin{aligned} \boxed{4} \quad M &= \int_0^1 e^{-x}(e^{3x} + 1) dx \\ &= \int_0^1 e^{-x} \cdot e^{3x} + e^{-x} dx \\ &= \int_0^1 e^{2x} + e^{-x} dx \\ &= \left[\frac{1}{2} e^{2x} - e^{-x} \right]_0^1 \\ &= \left(\frac{1}{2} e^2 - e^{-1} \right) - \left(\frac{1}{2} e^0 - e^0 \right) \\ &= \frac{1}{2} e^2 - e^{-1} - \left(\frac{1}{2} - 1 \right) \\ &= \frac{1}{2} e^2 - e^{-1} + \frac{1}{2} \\ &= \frac{e^2 - 2e^{-1} + 1}{2} \end{aligned}$$

$$\boxed{5} \quad N = \int_{-1}^1 |e^x - 1| dx$$

$$\int_a^b f(x) dx = \int_a^c f(x) dx + \int_c^b f(x) dx$$

$$x=0$$

$$\int_{-1}^1 |e^x - 1| dx = \int_{-1}^0 (e^x - 1) dx + \int_0^1 (1 - e^x) dx$$

x	-1	0	1
e^x	e^{-1}	1	e
$ e^x - 1 $	$(e^{-1} - 1)$	0	$(1 - e)$

$$\begin{aligned} &= [e^x + x]_{-1}^0 + [e^x - x]_0^1 \\ &= (e^0 + 0) - (e^{-1} - 1) + (e^1 - 1) - (e^0 - 0) \\ &= -1 + e^{-1} + 1 + e - 1 \\ &= \frac{e^2 - 2e^{-1} + 1}{e} = \frac{(e-1)^2}{e} \end{aligned}$$